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Lecture: 03
Hon wa tsukue no ue ni arimasu

K IZ A o ki HoEt
The book is on the table?

@FE)-Konnichiwa /Z /uZ 513, namaskar and a very warm welcome to all present here today
in the second series of lectures on Japanese Language and Culture. So, in our previous lesson,

we studied particle @)ni~/Z, we learned how to use particle ni~/Z@¥) with time, we
also did particle @0~ % and honorific o 75-@ ). So, there is a big difference between
the two as you already know now.; pParticle 0.~ 2 @) is used to show the object in the
sentence and the honorific o~ 75@) is used to show politeness, to show respect though the
sound the pronunciation is the same syllable is different. Now, we did ni~/>@H) as you
know, we are going to continue with ni /=) see how ni~|“@) is used in various
ways in the language. Today, we will do with two different verbs you will see how ni (=
@I9)-is used over there and then also we will do with animate and inanimate, how to show
existence of people and of objects using ni "/ Z@) basically, we will see prepositions today,

we will learn prepositions. So, let us see what we have in our lecture.

(Refer Slide Time: 01:36)

Hon wa tsukue no ue ni arimasu

X L @ £ 2 HYFET




Now, how do you use prepositions in Japanese. For example, something is on top of another
thing is behind something or someone or is in front or alongside something. So, how are we
going to say these things in Japanese let us see?

(Refer Slide Time: 01:58)
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Boru wa watashi no mae ni / tsukue no ue ni arimasu.
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So, from the picture, you can see very clearly there is a kaban 7>/ /., command-there is a

bag over here and there are two people. So, the question is and the answer would be which is

given over here kaban wa koko desu.” 7L/ 1% = Z T7 .G hissen A san saying
that kaban wa koko desu.” 7> /4 A /4 = Z T k) this is because it is close to A
san-a-sen. Now B sansen could easily say kaban wa soko desu.” 7:ZA 1% <2 TT,

d)-this because it is far away from him. Now, there is another way of saying the same thing
kaban wa koko ni arimasu.”7NE/A 1F 2 12 H Y ET.@) wWhy do we use

this verb arimasu.~ % ¥V ¥ 7?@k) bBecause desu.~ T this-is not a complete verb., work-
Iit is made with the help of de.” C@) particle and the s~ 7 @) part of the masus form.

So, it cannot perform all the activities a verb is supposed to perform all the conjugations
cannot be done. So, we need a proper verb over here and this verb shows existence of
inanimate objects, that is where a certain thing is present. It is there the existence of the bag is
shown by arimasu.~ & V) & 7 @) and-where as vartous-the bag is shown by particle ni /=
@FB). A very, very different usage of particle ni~/Z@) you have not done this so, far. You

have only used it with time.



So, @)-koko ni.~ = = |Z basically something wa ~/Z(Fk) place me-ni arimasu.~ |Z

» V) F 7,6 it exists at this place. This is what we did last time. Now, today as I told you,
we are going to do post positions that is prepositions in English. So, what are those post
positions in Japanese? Well, kaban wa mae ni arimasu.” 7% A 14 g 12 H VD FF.,
@) 1if 1 remove this watashi no.~ 7. @) from here, we can say, kaban wa mae ni
arimasu.” 7)NL A P gl I &V E @) it is in front. We are not mentioning what
it is in front of but we are saying kaban wa mae ni arimasu.” 7234 1% £z 12 D

) F 7 @) from context you can understand what is being said.

If you add watashi no.~ #. @) then it is very clear. I am here and the kaban.~ 73/
@B in front of me like this. @F)Kkaban wa watashi no mae ni arimasu,” 7%/ 134 F

D fjif 12 BV ET, maeHil means front. Instead of kaban.~7)>/%/Fk) you can
have any other noun over here; linstead of watashi~ 7 @),—Yeuy can again have
@&B)otousan,” 5K X A, okaasan no mae ni arimasu,” IBH A D FI 1T DY

5\{: ‘j—‘-
Now look at this picture over here. Fl)-Tanaka san, we can call him 7anaka san@). He is

pointing at this ball. So, what is he saying? As it is in front of him, right in front of him. So,

he can also say horu wa, @) this is the table. So, well it is present on top of the table.

So, over here also you can replace mae i@ with ue.” F-@). So, Kaban wa watashi no
ue ni arimasu” 7)NEA 1L F o k(2 H Y E T 6 sounds very funny, but
this is just for practice. So, we can replace mae~Fij over my-ewn-werd-here with other
prepositions, wayue /- means up or ahead or top okay.

(Refer Slide Time: 06:08)



So, now what are the normal prepositions that we do in English?: So,-way ue " /- which is
up,-@) shita~ | which is down or under or below, or@™) naka ~ 777> which is inside or
@F)-soto.~ = & which is outside or @)=mae 5 % which is front or ahead, @FE)=soto.~
< & which is behind, back etc. So, @y-ue "L, shita.” |, naka ", soto.” 4%, mae.” ],
ushiro % % some very simple post positions that we are going to take up here also you can
use yoko.~ J- ZFk) which is alongside something for example, you have a wall, something
is parked over here,: Fthe cycleist parked alongside the wall, yoko ni arimasu.~J. = =
» 1 F 7@). So, we will see and revise over here.

(Refer Slide Time: 07:22)
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So he is pointing and Tanaka san@) is far away from both of them, we can see very clearly

from this word asoko.~ & & Z @) asoko.~ &7 Z which means over there. Now, if @F)-
Tanaka san somewhere or here see, then soko ni imasu.~ <= |2 1F 7@ or if he
was a little more closer, he could have said koko ni imasu.~ = = = U F 7 or Tanaka
san (FE) himself could have said , watashi wa koko desu.”#. |2 =2 T7,@FkE)]am

over here. Now, instead of 7anaka san@¥) you can replace this noun over here with

@EB)buchou. 525 J- 9, which is the head of the department any section of the office, then

Ssensei; you already know, chichi.~ ¢ and imouto ~ %% (¥l is younger sister.

So someone or something wa_ /2@ place ni imasu.~ |~ V3% 7 or arimasu,” & V) 7"

@FE)). You can replace this place/location over here with jimushitsu.~ U 7r [ ->@¥) which

is the office/~working office, then erebe-ta- no mae = L-~—%— @ [ you

understand, @) uchi~~ 5 % is house. So, @)-Buchou wa jimushitsu ni imasu,” 75 13
Cirl> 12 WET

Sensei wa erebeta no mae ni imasu,” 64 14 T LN—XF— D F I WFT

Imouto wa uchi ni imasu, %% |4 K 12 U E T Chichi wa gakkou ni imasu, % 14
R NZ 0 ET

Neko wa kuruma no shita ni imasu,” J 1& H# o F |2 HFET

Buchou wa kaisha ni imasu,” #£  1& =fL A 0 FET

You can also put on.~ /@) over here;; it is an inanimate / non-living thing. So, Hon wa

tsukue no wue ni arimasu/ AN |Z Pl O £ I HYVFET.. FB) Pplease

remember arimasu” % V) F 7 and imasu.~ V> F 7 @) are very important and need-ni_ "/~

to show location of the object or person, where the person is. So, the place is given and place

ni,” |12,

Now you can very well see over here buchou.” 7 Z@). So, buchou wa kaisha ni - #51<
/2 =ff IZ or jimushitsu ni imasu,” Cie L > (2 ) FE 7 E. Hf this is ) Hana
chan, then @Hana chan wa buchou noi hidari 166 %A 1% SbE 5 DT 7L
hidari 0=V is another locational word. So, hidari ni imasu.” O\=0 12 VVF T
Hana chan wa buchou noi hidari ni imasu,” /E5 XA 1% S6L 9 DIZ I



V& 7. Tanaka san wa buchou no ushiro ni imasu,” HFP XA 1Z SHEE 95 D 9L
A 2 W ET.@E). So, you can use have-these words,: Fthese prepositions,~ase—and-
andshow location of someone or something with reference to something else. I hope it is clear

now. Now we have used ni~/Z@) in a lot of ways. We will show with the help of ni~/Z

&) a certain activity at a certain time.

(Refer Slide Time: 10:58)
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Watashi wa shichi-ji ni kaerimasu.
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So, this activity is being performed at this time exactly at this time thus that-is particle ni
(Z. @) Mmainichi - 7# |1 is time expression, means daily and watashi wa mainichi.~ .

/% 17 H @ )—he every day hachi-ji ni okimasu ~/\Ff (|2 FEZET. @) lit is a
statement. Of course, this says roku-ji~ Ni#@E) but well, we have used hachi-ji.~/\#F
&) over here. So, Hachi-ji ni okimasu ~/\IF (|2 #ZxFE7,@FE) 1 get up. So,
performing a certain activity at a certain time exactly at that time then particle ni /@) is

going to be used and also we did earlier that after time, particle niee @) is used, hachi-ji ni

kaisha e ikimasu,”/\FF | ZFE ~ T7& F 7 -FHy

Now another one is here for you,-dH) exactly at this time tabemasu 70~ F 7~ @) not
more not less maximum plus and minus two minutes or five minutes maximum but not
beyond you do not say roku-ji ni tabemasu.~ NHF (2 X% 7 and you mean roku-ji
Juu-go fun ni tabemasu,” NHF 7.5 12 £ F 7 .@FE) nNo, that is wrong/incorrect.
I#f you say roku-ji ni tabemasu,” NHF 12 RB-~NFF, it means, daitai, 7207 V@R
means two,they-try-to three, four minutes here and there but-@) roku-ji desu ~NIF  T9°



this. @)-Ashita.~ 7] [1 is another time expression, means tomorrow. Y=you already know
mainichi ~ 7 [, ashita.~ 7] /@) and you will see that with ashita~ & L /=@ with

time expressions over here also particle ni -/~ @-is not being used.

Particle ni~/{Z@) is being used with exact time, with number and time. There are lots of
time expressions you have done and lots of time expressions, which will not take particle ni
2. @) Particle ni |~ partieatarky-is not required.; Wwhy it is not required?: @H)-Ni~
(Z particle is used for exact time. And @)ashita~ % [ /- is a time span, a duration. So,
this does not work over here. Now that is why @¥ashita~ 7] [1 will not take particle ni (=
partiewtarty. @) Mainichi ~ 7 1 will not take particle ni~("partiewtarky. And I will give
you a lot of words here which will not take particular ni -/~ @)

(Refer Slide Time: 13:45)
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Watashi wa@ juu-ichi-ji ni nemashita.
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You will see yourself let us do this exercise also over here.;=F)—the—-Eexact time ni
nemashita,” |- I F L7=. bBut kinou  FEH, kinou ni juu-ichi-ji ni nemashita )
incorrect/no,. Jjuu-ichi-ji ni nemashita.”+—H#F Z JEF L7, tThe exact time ni
nemashita.~ |~ 72F L /= and@¥) this time the watch also tells you 11 o'clock. Let us see
what is happening over here. Watashi wa ototoi ni, no/incorrect, watashi wa ototoi~FE)
because ototoi I [1{F)—tweo—three—years— is a time span/—duration,: Ft is a time
expression,: 1it is not exact time. Now this over here =this usage of ni~/Z@) is very

different, which I am going to do later. At the moment please concentrate on Watashi wa

ototoi denwa o shimashita.” % 1% —HFH &t & LFELI.FD-



So, what you have done earlier with 027 O~ 2@ is direct relationship with the verb,
‘Nroun o~ 2@ Vwerb’. The verb is acting on the noun, what do you do with it denwa_~~
7 i M thenwhy=y You ring up somebody.2 SSso, denwa o shimashita” TA P> % L F
L 7=.F) nNow, who did you bring up? It was your okaasan.~ 75 +F = /). So, here the
subject, object; subject wa. |4 object 0. % ) -verb-subjeet-F)-objeet-FI) verb. It -is
very, very clear. Now, we have another indirect object over here. So, what do we do, we

cannot have two o~ Z @) in a sentence we have done this earlier.

@F)-0 " # particle as you know marks the object in the sentence. So, something else has to
be done and that is ni /@) and what is it equal to in English? It is equal to ‘to’ oftwe-
hatves- English. Watashi wa ototoi okaasan ni denwa o shimashita.” #. 14 —HEH FFE
A0 HEE & L FE L@ in a very, very different way you could say I called
to my okaasan. ¥+ A or you can say Watashi wa ototoi okaasan ni tegami o
kakimashita,” F, 1% —HEH FHIA I THA & FEXFLE @EFHH—So,

over here the usage of English ‘7o ‘@) will be very clear, I wrote a letter to my mother. So,

this is equal to the ‘to’twe in English I am going to take it up later as well.

Please concentrate on this at the moment, because we are doing time expressions and time
expressions will not take particle ni~(Z, @) not all but some of them.

(Refer Slide Time: 16:46)
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So, now, what are the time expressions which do not require a particle ni "/ Z@k). @)-Asa
_~#)] is morning as you know, @¥)-kesa~ 7] is this morning, @)-konya 1% is this
evening and @F)-ima.~ is now. You have done this Kanji character also in your previous
lesson, which is ima @) that inside the house you are sitting and singing now. So, this
here on top is the ito.” A@H). We just change it a little and make it like this showing that

this is a house.

So, @F)-hito.~ A is in the house and singing and @¥)-konya -~ 1% this evening and @F)-
kesa.~* %] this morning. Of course, you have @¥)-ashita~ 7] I tomorrow, @)-kinou.~
HEH yesterday, @Fkyou. > H today and @F)ototoi ~—HE H day before yesterday. So,
all these will not take particle ni~(Z@). Also have @)rainen. K4 next year, kotoshi
this year and @¥)kyonen.~ & J 724 last year and @F)=Ses-raigetsu.~ /] next month,
@) —kongetsu.~ %/ this month and @)sengetsu.~ 7t/ last month. These time
expressions will not take particle ni~/Z@) because it is not exact time it is a time span/-

time duration.

(Refer Slide Time: 18:10)
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Now time expressions where ni~/Z@F) is optional.
So, haru ni.” & 12,

natsuni,” &2 (2,

akini, k12,



fuyu ni. 4 (2@ you may add ni "/ or@Fk) you may not add ni /@) depending
on your sentence construction. Also, if you add ni~/Z@), there is more emphasis/stress on

what you are saying. Y ,=you are trying to emphasize what you are saying that is all, that is the
only difference.,~eOtherwise, the meaning the fundamental meaning of the of the sentence

does not change at all.

These are the four seasons you can see this is aki~#A, fuyu~ %, haru % and natsu~ 2
@) we will do the kanji’s a little later. Now therethat is roki & Z@) also over here.
@) Toki.~~ & & means time as you already know, and-@H) goro.~~ =5 is approximate time.
So, with goro = A@F) either use goro.~ =A@ with time; or use ni~(Z with time@F)-
use-F)-with-time, both are not used. And foki ni & & |Z@k) is optional. I will show

you later in the lesson. You will know it only emphasizes that is all the basic meaning does
not change.

(Refer Slide Time: 19:30)

Rainen no natsu, 1)1/1) kazoku to isshoni Amerika ni ikitai desu.

kE 0 5. (0 Rk &—#IC 7A)A I LWERLL TY,

Gakkou ni ita toki (ni))_voku supo-tsu o shimashita.

2812 U & (12) &K RB—Y % LEL,

Watashi wa ototoi hahacnwa o shimashita.
I —MB B I 3% # LEL=,

Now you can see over here;-(F). It is optional over here you may or may not use it; in a
similar manner; so, when I was in school, I did a lot of these-sports, I played a lot of games.
So, when you put me over here, it emphasizes that at the time when I was in school, I was
playing games. That is about all without ni~"/“mre also the sentences complete. We just did

this over here in the previous slide.



This ni.~ (2@ over here is ‘to’twe which I am going to take up later, watashi wa ototoi ni
again no, ofotoi haha ni denwa o shimashita~—HE H IZ Eah & LFLE,
@FB) 1 rang up my mother day before yesterday or denwa o shimashita ” & 2 L F L
7z is @F)-then-while-she-mueh-ties-I talked to her. So,- watashi wa~F; /7@ 1 talked to

my mother day before yesterday. So, you can see that over here as I explained earlier, this is
the primary object and this is the indirect object of the action. Now we will do how to give

and how to receive things in Japanese.

The verbs are different for both the cases and their agemasu & (/% 7~ and moraimasu.~ %
5V F 7 @)rand the reason why I am doing this over here is because we are going to use
particle ni - (Z(Fk) again.
(Refer Slide Time: 21:17)

e
Watashi wa agemasu/agemashita.
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Watashi wa 0 agemasu/agemashita.
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Watashi wa okaasar hon/shousetsu o agemasu/agemashita.
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So, how to use particle ni ~/{Z@J¥) and what does it mean? Now simple sentence, watashi wa
agemasu,” F, 1L BHIFFE T, 1 give. So, I and give or@ ) | gave agemashita ~ & 17E L
7. aNow~@FE), 1 give something. So, what do 1 give? Hon ~ANdR?>=Se,-d)-a till

now I am not telling to whom, I am just saying that I gave a book or @)1 am going to give

a book. News-@FI)-Over here this @)1~/ is equal to the English ‘to’. So, @) watashi
wa okaasan ni. 4 1E FBEEEA IZ, 1 gave a shousetsu. /i or hon K ‘to’
(English) which is ni /2. 0 okaasan.” 351t & A, F)—So-which-is<FE) to my mother.

This ni.~{Z@) over here after the indirect object is equal to the English ‘to’. So, I ‘watashi



wa, . 7 someone ni|Z@¥) something 0. %, Fl)-semething—d)-something is a
noun; obviously, noun o~ @) verb agemasu. -1 F 7.
(Refer Slide Time: 22:57)

Watashi wa moraimasu / moraimashita.
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Watashi wa hon o moraimasu / moraimashita.
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Now, @-watashi wa moraimasu.” #,. |4 & 51>F 7, so I am the one who is receiving,
moraimasu,” % 5 U E 7 =whatdmust-is to receive or to get. So, watashi wa moraimasu,”
Foold B 50 ET or watashi wa moraimashita,” F 14 L H5WVWELEER 1
received something, I got something. As we did for agemasu. /7% 7@ ; 1 received

something and what is this something? 4It is a book then, €F)-I received a book from my
mother. So, this is equal to ‘from’ in English. | @watashi wa~F, /3 someone ni -

@) which is equal to ‘from’, something 0%, @F)-something is noun again )0~ %
verb and the verb is morau. % 5 O @H).

So, @watashi wa.~ . 7 =was-someone ni - (@) something 0 morau. 2 & 5 9
@), this is direct relationship and this is the indirect object of the sentence. Now, you can
also make it very simple in your mind instead of particle ni~/Z@¥) you can use kara 7>
5@ ) which you have done, which is equivalent al4a to ‘from’. @)-Watashi wa koko kara
soko made " F. 14 ZZ 6 £ Z  F T /from here till there or hachi-ji kara ku-ji
made .~ J\IF 726 JLlF 3 T@) sSo this you have done,: Fthis means ‘from’ and
you can use kara” 7> 5@&) over here instead of ni /@) and remember that with



moraimasu,” & 5V F T, watashi wa okaasan kara shousetsu o moraimashita,” . 1+

BHEA 256 i & b 5V FE LJZ that’s the meaning. @FH)-

Fhat-is-the-meaning-wWith the verb ageru 5/} 5@k) it means to ;+give and with the

verb morau.” % © 9 @) it means from someone (I) receive.

(Refer Slide Time: 25:12)

Now Fywatashi -, 1 give agemasu.” &} F 7~ (4= and it is about me watashi wa~
F4 (3 receive / get moraimasu,”H 5 1) F 74 1 give and I received it is all about
me in agemasu.” 17 F 7 and moraimasu.”t 5 1) F 7). Also over here you can say
in place of watashi~F, imouto, 4%, chichi.” X and haha wa agemasu.” F |34 BHITE
THD and—=F)~they give something, chichi wa agemasu.” 5 1% HIFF 7, haha wa
agemasu” FF 14 BITET,, imouto wa agemasu 4k 1% HIFE TEH—O okay,
something and again imouto wa moraimasu,” 4% % & 5> F 7, chichi wa moraimasu,”
&L b 50V ET, haha wa moraimasu.”FE - (Z 6 5100 F 7 So, you will notice that
again they are giving and they are receiving. Who is giving and who is receiving is not the
issue over here, the issue is either I am giving or I can be replaced with imouto ~ 4%, chichi.~
A and haha.~ +F are @-giving or receiving, it can be sensei /44 also or Tanaka
santFy anyone receiving and giving.

(Refer Slide Time: 26:37)



agemasu

FalX “

moraimasu

Koan

So, now you can look at this and see it is very clear:

Wwatashi wa agemasu,” # 14  B»IFF T, B san ni agemasu BEA 12 BHIFET,

watashi wa Bsan kara moraimasu,” % 14 BE A 706 & 50V E T Ni agemasu,”1Z
BT E 7 and kara moraimasu,” 7> 5 6 50 F TR,

(Refer Slide Time: 26:55)
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Now, if someone else wants to give something as I told you just now in the previous slide, so,

if chichi.~ ¢ and haha.~ 1 or@#E) someone else wants to give something to somebody. For
example, I want to give to chichi @) 1 want to give to haha ~ /), I want to give to
tomodachi ~ /& 1%, @) it is absolutely correct. A=agemasu,~ &1 F 7 arsuments-will be
used. If now imouto ~ Zk@¥) wants to give to chichi.~ ;@) chichi.~ 5 wants to give to
haha .~ ) or tomodachi.~ & i# wants to give to another tomodachi X 5FE) or



Tanaka san @F)-sen-then also same agemasu.~ & (1 F 7 @I will be used or if chichi K
he-wants to give something to imouto ~ 4@, @)imouto ~ 4k get something from chichi
R @) haha,” FF gets something from chichi,” @) tomodachi ~ & 1% or Tanaka san
gets from tomodachi -~ 4 @) then it will be morau.~ % 5 o @). We are doing the same
thing again and again so that agemasu~ (7% 7 or moraimasu.” % 51> F 7@ with

particle ni |~k is very clear to you.
(Refer Slide Time: 28:00)

sas\\'ﬂ%emas“
sensei
+ buchou
A agemasu
FAIX pa
moraimasu
tomodac

Now, if you want to give to somebody who's is senior to you, somebody who's older in rank
and age to you, then instead of agemasu & (7 % 7 @) for politeness and for respect, what
are you going to say? Well, it is sashiagemasu ~=L&T £ 7 @). So, to seniors, you will
always say, watashi wa sensei ni sashiagemasu  F. |4 4 12 S LBHIFFET.
Watashi wa buchou ni sashiagemasu " F, 14 SH 1 5 12 X LbHITE 7@ Now,
if someone who is senior to you gives to you, then you receive something from your seniors,
then what will you say? @H=Watashi wa sensei ni/kara something o itadakimasu.
Moraimasu is only for people who are your age-F). Now F)-imouto wa buchou kara hon
o itadakimashita ~ 4k 14 SHL 0 6 K F WEEEFFELE

Watashi wa sensei kara jisho o itadakimashita.” % 1% HAH 056 FE #
WE/Z & ET Moraimasu.” 4 5100 % 7 is over here is a mistakes—whWhen you are

receiving something from people senior to you it is always itadakimasu.~ "V /= 7= F7°

).
(Refer Slide Time: 29:23)



Now I will write it down clearly.

A gives ageru,” 115, B

A receives morau.” H 5 O @FE)

B who is senior to you Aa gives sashiageru.” & L &7 5@k and

~A receives from someone who is senior in age and rank itadakimasu ~V>/=/= & E 7
itadaku. V7= 77 < @A) Pplease remember this. Now we have done so, much of ni~(Z@Fk)
there is still more ni -/~ @ left. N-ni | Z@) performs a lot of functions in the language.

We are going to do another one over here today.

(Refer Slide Time: 30:06)
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Watashi wa gohan o tabemasu. ¥
Bix CH 2 BRES 7&;@@
Watashi wa gohan hok;do e ikimﬂsu.==———'?P

FE TR F BENIC BE ~ 17EFET
P e . Pe Vi)
aini/ =l [

hooby sowstr P

How ni.~{Z@H) shows purpose for going in a certain direction, now let us see what it is?

Watashi wa gohan o tabemasu.” 74 1% ZHk % R-F 7, @Fryou understand noun



0.~ Z @) verb. So for the purpose of eating, I am going to the shokudou ~ 7 =@k). So it
is very clear fabe ni.” £ |Z@¥) remove the masus and put ni (@) over here. )
Ikimasu,~ 77 2 3 7~ is motion in a direction. When particle ni~/~@¥) is added to this verb,

then it shows purpose or movement in a certain direction with a purpose to do a certain

activity, which is clear in your mind.

So, why am I going to the shokudou ~7& % ?@¥) 1 am going to have gohan ~ ~ i@E). So,
for the purpose of eating, I am going to the shokudou 7%, ;@) Pperson wa /@) for
activity place eys-a-iku 77 < @). G-generally in this case the verb is iku 77 < egunat. Now
you can use it with other verbs also, like you have ai ni. 231> (Z. iremy Oever here aimasu
2 FE 7@, So, remove the masu@E) put me=ni_~(Z or benkyou shimasu,” #5% L
% 7, benkyou shi ni gakkou e ikimasu,” #5% L 12 FK o~ TEFET,

S sensei ni ai ni gakkou e ikimasu ~JE4E 12 =0 I FK o~ (TEET. B
Yyou will notice that the verb is always ikt < or kuru~ < 5 or kaeru.~7>x 5ot

&F)-or-(FI). Now why is that so, let us see.
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But before that, let us do a few verbs like tabemasu 1 F 7, mimasu~ td F 7,
yomimasu,” @i4 FE T, aimasu.” 1 F 7 @) group one this, is group two. So, we just
need to remove the masu@ ) and put ni~/“me in place and it becomes for the purpose of
this activity. For example gohan o tabe ni shokudou e ikimasu~~Ht & 7~ |2 &
o~ fTEFET



Eiga o mi ni tomodachi no uchi e ikimasuWE Z W 12 KEL O FK o~
rT& 9.

Sensei ni ai ni gakkou e ikimasu,” 76/ 12 RV 12 FE o~ D& F T or gakkou
ni ikimasu 7% 1 77& % 7. @l)-bBoth can be used over here because the purpose
is very, very clear. Now, you have shown purpose with the help of particle ni~/{Z@¥). Now,

why we use only motion verbs over here? Because it shows movement or@=) motion in a
certain direction and with a purpose.

(Refer Slide Time: 33:18)

motion verbs -

iku ikimasu
Kkuru —_— kimasu
kaeru kaerimasu

So, what are the motion verbs? You have studied three basic motion verbs and that are iku
W<, kuru < % and kaeru,” 72 % and hairu, 170> % and deru.” T 5 EFy-and=EF)

and-F)-and-FE) are also motion verbs.
(Refer Slide Time: 33:30)



hashiru

)

oyogu
&<

aruku

&<

hashirimasu
EFYET

oyogimasu
EEFT

arukimasu
HEFET

E)-Hashiru.~ /74 L 5 which is to run, @)=aruku~» 5 < which is to walk and @)~
oyogu.~#5 J- <" which is to swim also show movement in a certain direction. But why are
they not in this motion work category?; bBecause the motion which is done or the movement
which is done is of a very specific type, when you walk you walk in a certain manner. So, it is

not just motion, it is a motion of a certain type. So, what is important is that in verb ni /=

@) construction;? The verb will always be ikt <, kuru~< % or kaeru.~7>x % )

or-(Fh):

Because it shows movement towards a certain goal. So, now how will we say that I am
learning Japanese to be able to speak to Japanese people or to be able to know about Japanese

culture? Let us see what is the pattern and what form we have to use.

(Refer Slide Time: 34:32)




X
Watashi wa Nihongo o benkyou(sitini Nihon

Flx BEE % #3 LI BEX ~ LWEET,

.

Watashi wa Nihongo oélunusu ame ni Nihongo o benkyou shite imasu.—
BlE BARE £ 29 0 BAR & BALTLFS, oy
e )
e N S
Watashi wa Nihonjin to ha usu\tame ni Nihongo o benkyou shite imasu.

FF BARA & 9 =00 BEFRFE & #MELTWET,

9 b

Watashi wa Nihon no bunka o 'auj‘tame ni Nihongo o benkyoushite imasu.

FE BAD Xt £ &5 =HIC BEXE % PBRLTOES.
@ W) bk juks

Otousan wa l\'ulnl\'u%?tame ni hatarakimasu.

BREA X FiE =HIC FF-oFFT,

So this is what we did just now ;=) whatever sentence you make, whenever this pattern
will come, verb plus ni /@) showing purpose, then the verb is always going to be ik~
<, kuru < 5 or kaeru,” 7>z 5 F)eor-@FI-motion verbs.

Now, if we want to say that [ am learning Japanese, to be able to speak in Japanese. So, there
is no motion in any direction. So, we cannot use this. Now what are we going to use over here
watashi wa Nihongo o hanasu tame ni, % 14 HAKGE gt 28 12,6 for
the purpose of talking, nihongo o benkyou shite imasu.”~ H Az5 % 5% LT OFE
9~ or shitai desu,” L 7=0> T or shimasu,” L F 7.~

Now one thing you will notice over here is, that this verb is in plain form. @)Hanasu tame

ni. (4729 /=& (Z for the purpose of talking, watashi wa nihongo o hanasu tame ni
Nihongo o benkyou shimasu.” #4 1% HAGE Z 579 7Z&® 12 IZIFAZ #
9% L F 7@ can also be used,: shitai L /-1 > She-died-can also be used. Shite imasu
LT 1WET is-@) continuous tense which means I am studying, shitai” L 7= 0>
is, ) 1 want and shimasu | F 7 is ,she-must-says-I will do. The important thing is
before tame ni. 7= |Z @F)-always verb is going to be in plain form. Now, there is
another example for you, @)-Watashi wa Nihon-jin to hanasu tame ni .~ #. /& HAA

& a7 /2% (2, 1 want to talk to Japanese people. Thus, I am doing/learning Japanese
(for this purpose).



So, Watashi wa Nihon-jin to hanasu.”# & HAA & G757 @) you will see plain
form and-@) hanasu tame ni Nihongo o benkyou shite imasu,” 759~ 728 12 IZIFA
& g LT W E T or benkyou shimasu, #5E L F T tameni, 728 1Z s
for the purpose of this verb. Now, @¥)-watashi wa Nihon no bunka o narau tame ni.~ #4
I AAX o Xt &= 2595 /=& [Z, for understanding/learning Japanese
culture Nihongo o benkyou shite- imasu and@F) I am learning Japanese. So, over here you
will see in these three examples ikimasu 77 & & 7 @) is not given. So, you are doing a
certain activity for this. The important part is that verb is in plain formplaee. Now, Fl)
otousan wa kazoku no tame ni hatarakimasu,” 5K XA 1 FE O @ I 1%
7= 5 & F 9., tTill now we were doing verbs. See, here it is all verbs. Now it is noun. So,
what is the difference over here? No is added kazoku no tame ni.”7/>< @ /=& |
for kazoku, 7> < @F).

Ne-F)-fer-F) w We can replace kazoku 7> < with watashi ~F, watashi no tame ni
hatarakimasu“F, @ 728 12 L7265 & FE T or uchi no tame ni hatarakimasu, 5

D2k |2 d/2 5 & F7@). So, you will notice that with noun it changes a little.
Th-this little ‘no " is added over here with verb, the verb is in plain form and if we are using it
in this form, then only ikimasu ~77 & & 7, kimasu~ (% 7~ or kaerimasu. i ¥ & 7 k)

will be used which are motion verbs.

(Refer Slide Time: 37:53)
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So, very, very quickly tabe ni ikimasu 1< [Z {7& E T, narau tame ni benkyou
shimasu, 7256 5 728 |2 #E LET or shite imasu LT WVET., )
Tthen kazoku no tame ni hatarakimasu,” 5k & 728 IZ B FE 7@. tThis is

verb, this is verb and this is noun. So, you can see the difference very clearly over here fabe

ni,” B~ |Z or narau tame ni,.” % 9 /=& 12 and kazoku no tame ni “FKiE D J=

O ICER).
(Refer Slide Time: 38:40)
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Now, I quickly want to do some kanji’s also with you, which we have covered so far I cannot

do all of course, but yes, some of the easy kanji’s. So, here we did iku 77 < and kuru -~
5 @FR)-and-FE). So, F)-iku. 77 < and kuru - % come to this crossroad, and you do
not know where to go. So, 1, 2, 3, 4 and you make this umbrella like this iku 77 <. it
eoutd-tThen we have kuru > 5 @). So, this is juu /@) you can see very clearly then,
if we just do this it means white rice, kome K.

And if we have to write kuru 5@ 1, 2, 3, 4, 5, 6 and 7 this means kuru, 2 5@)5
Wawhere is the idea coming from? Well, in @)juu-gatsu. /- this over here juu - @)
so, there is rice harvesting. So, rice turns red, and it is all ready to be harvested. So, that is
why you can see rice over here. This is the character for rice and on top you have juu "}
@FB). So, like this kuru -~ @) it is given over here you can see.

(Refer Slide Time: 40:07)



Then, we have ima @) you have done ima @), kyou %" 1@ these are some
words with ima @) you know the words now you do the kanji kotoshi 5@k over
here, kotoshi.~*4-@) which is year, nen - #nine is the other reading for roshi k)
for this character, then we have @¥)-kongetsu %> H, it is like this @)-ima no.~5 D
month @ kongetsu.~ >/ this is how you would write.

(Refer Slide Time: 40:54)
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There are more words now,- Fasa~#/] you know time expression @)-asa~ 7/ like this.
W=with asa %@k, there are some words: @)kesa " #)] that is today morning. So,
today morning @Fkesa 7], then you have @)-asa-gohan.” #] R, asa & & saeh
and then you have gohan ~~ Hi@)= remember doing the honorific ‘go’ before this



character. Now, this has become almost a word and; go is not honorific anymore in this it is

just gohan -~ Hi@) nobody says ‘han’ @) it is always with- gohan. = /1 /AAFE).

Then asa-nebou,” #1Z L) so over sleep,-d) asa.~ 7] in the morning so, nebou, JZ
@ )-is to over sleep. So, concentrate only on this part, which is this character because it is
coming from here asa~#/HFE).

(Refer Slide Time: 42:04)
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Now, )-agemasu.~ &/ F 7 is another one that we did just now. Aageru~ &1/ 5 @EkE)
to give and this is also the kanji for ue.~" [-way up. Then, you can see we did haru~ZEE)
and haru~ 77 is very simple. Three people looking at the sun after a cold winter. So, that
is the pictogram, and 1, 2, 3 over here, here, and then nichi @) this is haru ~ZEE).
Then we have natsu -~ 2 @) again like this. Your me - /7@ and then this one over here,

meaning it is so, hot that this person is sitting under the roof sweating, totally exhausted. That

is the pictogram.

Then @)aki~ 7k again, all the grain becomes red or brown at the time of harvest, which is
in autumn for rice. And it is very simple like this aki~# @), @) Fuyu. 4 which is like
this,- Aa# person walking on thin ice so that is the pictogram. There could be other
pictograms as well. These are the pictograms I had. And also look up the net, in the

dictionary; you can see the stroke order is given very, very clearly. In the online dictionary.
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Vocabulary
Jimushitsu CeLo office (room)
Konya 5% tonight
Kotoshi 55 this year
Kaigi AL meeting
Kougi 5F lecture
Kazoku nEL family
Natsu L] summer
AKi B autumn
Haru & spring
Fuyu ES winter
Yuki ] snow

(Refer Slide Time: 43:33)

Prepositions
Place ni arimasu/imasu/[Z HYET/VET
Ageru/morau/®F5/£55
Tame ni/f=&HI1Z
Kanji/i# =¥

So, with this, I would like to finish today's lesson. And we have covered a lot of things here
today. We did prepositions, we did particle ni (=@, we did agemasu.~ & (1 F 7 and
moraimasu.” % 5 1) F 7@ with particle ni. "\ @), B agemasu.~H 1 F T to give
us you know, and moraimasu.” & 5 0> 5% 7 is whatt-am-asked-us-to receive. So, giving and
receiving in Japanese with particle ni "/ Z@FE).
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Summary

Prepositions
Ni
Ageru/morau
Tame ni/Vni
Kanjis

And then we just now covered some kanji’s very, very quickly. All kanji’s you do not have to
memorize. You can just keep the pictogram in mind and concentrate on those characters. So, I
will be giving you a lot of kanji’s but you can pick and choose whichever ones you want
toand-learn and you find interesting. So, with this, I would like to end our class today and see

you again in our next class. Thank you very much.



